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QUESTION 1

How is access to the IBM Cloud Container Registry controlled? 

A. A platform-built using Docker to run and manage your applications 

B. Watson service credentials 

C. An open-source system named Cloud Foundry 

D. IBM Cloud Identity and Access Management (IAM) 

Correct Answer: D 

Reference: https://cloud.ibm.com/docs/Registry?topic=Registry-iam 

 

QUESTION 2

Which of the following IBM Cloud Paks help to accelerate the build of cloud-native apps by leveraging built-in developer
tools and processes? 

A. IBM Cloud Pak for Developers 

B. IBM Cloud Pak for Data 

C. IBM Cloud Pak for Microservices 

D. IBM Cloud Pak for Applications 

Correct Answer: D 

Reference: https://www.ibm.com/in-en/cloud/paks 

 

QUESTION 3

How many public IP addresses are standard with IBM VMware Solutions Shared offerings? 

A. 5 

B. 4 

C. 3 

D. 2 

Correct Answer: A 

Reference: https://medium.com/@moreal70/vmware-solutions-shared-on-ibm-cloud-provisioning-andconfiguration-for-
accessible-in-bound-and-48edd7ee5980 
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QUESTION 4

What is the maximum size of an object that can be stored in IBM Cloud Object Storage? 

A. 5 Terabytes 

B. 25 Terabytes 

C. 50 Terabytes 

D. 10 Terabytes 

Correct Answer: D 

Reference: https://www.ibm.com/cloud/object-storage/faq 

 

QUESTION 5

Which statement describes the IBM Cloud Kubernetes Service? 

A. IBM Cloud Kubernetes Service is subset of Cloud Foundry 

B. IBM Cloud Kubernetes Service is built on Red Hat OpenShift and can run across any cloud platform including IBM
Cloud 

C. IBM Cloud Kubernetes Service is a managed offering to create and run containerized applications on IBM Cloud 

D. IBM Cloud Kubernetes Service is a self service solution designed to run Kubernetes clusters only on bare metal 

Correct Answer: C 
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